& Y g 2| il
1 2 3 4 5 6 7 8 9 10 T 12
slzlatfalz=la|a]zl6la]z = = = = = |t |4 |= |at
EEREEE
. 7 HL24+4000 IE} DHHICHD| 2| uES7 |
I k=2 [ ®olgnt [2e=s]  [2019f 3t | =
| e = HEEE !
za Wals 2= SR |
Ol AL HEZE SHYE, 255 Jag | Hi @ 87500
— : ol = 22H
| Egaen, =mY
= HE QOEME
o e e e e [ smzaE s 092 sm 098 LgE Bz
M e [orewmn ey WO |00l (e =2 e =M o
£5 [soos 22l 10021008 | | A 2% o ERAAAEL
T= =5 ue
somatm £224 Y053 U Bl Icyst "HER4 3000, 5000, 4000
o=
. 2= _ _ = _ I
ol E 2 N Zo0]| RetdE BRE YollSol ot 21ZWA| "H2E 3000, 5000, 4000" -Z, S, I S-
S5t=H
cod
GHAEL A A2 (7~1022H4) "Hi2E 7500 A2 - 2§ E= 2 59 (Y2 HUALE) EF AL8-
Al 22 7|8 U 2H| : BE2E 5000, BHE(4) : "BERE 4000 (15~20% 742)), LAl B2 6000
= (10~15% 242 €W or 2F)
7|8 7| HE BF AHZ2| 50% + "HtRW 5000" LIRFH EQF AR (AR|HH 7| 1 12/100E7|&)
97| AlB| 22|
=4 "H2E 5000 LR B AR (MAHA J|F : 12/100H7IE)
43}, o8 2H7(0) S HaliE «IYV7F SE, (E2d oY, 2= A Hgel ASLA LAl
74347 #3112 o5l 2oHOH=h 12] 04 |2} 70~80% A "H2Y 7500 € (18 5004 514 YoIF)
e e - 24T 19]0]¢ IHQ|F "BIRE 7500" A -
017| (743} 13] Ol4¢ "HE2F4000" ZH3(4) (5008HSIA 2ol or 6~700%/18 1.80)
e 22| ZH|S 5P RAI5H HA| A0 HSZ 20| 22, "8R4 6000” 2
- (13]/2 A%, 500HH3|A ol or 5~6oo{1§/1 o)
FHE LY FAISHH HAUYRE RESIER LS Y-S FAISI 2hab|C], Mee2|ofES
4371 AlBl 2t
gl o4, Mg, 2fate| "HE2Y 4000" 23]/8 23(%) (50081541 2|2 or 6~700E/1Y 1.80)
FaliE 22l "L 7500" 7~10Y 22 EH (500HH5|M lof2k or 7~800%/1%)
= &2 ASEY0 UM HYe 2 S22 s 2 A
Ush 22|
Mg 2| HEZ0| YYS ZME KI5 A2 HlR0| Y FJof KB
iyl "R 6000 24 (1% 10002 5/44-10008H) -H| 2 21-
A§_|.7| o 2]
T“ AlH| 22|
el st A=, 2t S 2sto] "HIRE 4000 8 2AIRE (11 20002 5/41(1000¢H)
FaliE 22l 7~10¥+4 "Hi4 7500 SHAE (500815]M YJ2lE or 7~800%/18)




